

Anxiety and e-health literacy levels of patients scheduled for thoracic surgery

Ansiedad y alfabetización en salud electrónica de pacientes que se someterán a cirugía torácica

Sema N. Yaman-Çelik^{1*} and Aylin Durmaz-Edeer²

¹Department of Surgical Nursing, Doctorate program Institute of Health Science, Dokuz Eylül University Health Campus, Balçova/Izmir; ²Department of Surgical Nursing, Faculty of Nursing, Dokuz Eylül University, Balçova, Izmir. Turkey

Abstract

Objective: This study was conducted to examine the relationship between the pre-operative anxiety levels of patients scheduled for thoracic surgery and their e-health literacy levels pertaining to skills such as finding and evaluating electronic health information about health problems. **Methods:** This study was a descriptive and correlational study. One hundred and two patients scheduled for thoracic surgery were interviewed in İzmir. The Amsterdam pre-operative anxiety and information scale (APAIS), the Visual Analog Scale for anxiety (VAS-A), the eHealth literacy scale (eHEALS), and a patient information form were used to collect data. **Results:** The mean VAS-A score of the patients was 6.02 ± 2.51 , their mean APAIS score was 18.73 ± 5.85 , and their mean eHEALS score was 24.84 ± 9.21 . There was no significant relationship between the anxiety and e-health literacy levels of the patients. Significant differences were found in the e-health literacy levels of the patients according to their ages and reasons for surgery. **Conclusions:** Patients scheduled for thoracic surgery were determined to experience moderate anxiety and need moderate levels of information. The patients were also found to have moderate e-health literacy levels. There was no significant relationship between the anxiety and e-health literacy levels of the patients.

Keywords: Thoracic surgery. E-health literacy. Pre-operative anxiety.

Resumen

Objetivo: Examinar la relación entre los niveles de ansiedad pre-operatoria de los pacientes que se someterán a una cirugía torácica y la alfabetización en salud electrónica, como encontrar y evaluar información de salud electrónica sobre problemas de salud. **Métodos:** Estudio descriptivo y relacional. Para recopilar datos se utilizaron la Escala de Ansiedad e Información Pre-operatoria de Amsterdam (APAIS), la Escala de Ansiedad Analógica Visual (EVA-A) y la Escala de Alfabetización en E-salud, y un formulario de información descriptiva del paciente. **Resultados:** Según la EVA-A, los niveles de ansiedad de los pacientes fueron de 6.02 ± 2.51 . La puntuación APAIS fue de 18.73 ± 5.85 . La puntuación de la escala de alfabetización en salud electrónica de los pacientes fue de 24.84 ± 9.21 . No hubo una relación significativa entre los niveles de ansiedad de los pacientes y su alfabetización en salud electrónica. Se encontró una diferencia significativa entre los niveles de alfabetización en salud electrónica de los pacientes según su edad y el motivo de la cirugía. **Conclusiones:** Los pacientes que serán sometidos a cirugía torácica experimentan ansiedad moderada y se determinó que necesitan información moderada. También se descubrió que los pacientes tenían niveles moderados de conocimientos sobre ciber salud. No hubo una relación significativa entre la ansiedad y los niveles de alfabetización en salud electrónica de los pacientes.

Palabras clave: Cirugía torácica. Alfabetización en salud electrónica. Ansiedad pre-operatoria.

*Correspondence:

Sema N. Yaman-Çelik

E-mail: semanuryaman4@gmail.com

2444-0507/© 2023 Academia Mexicana de Cirugía. Published by Permanyer. This is an open access article under the terms of the CC BY-NC-ND license (<http://creativecommons.org/licenses/by-nc-nd/4.0/>).

Date of reception: 24-07-2023

Date of acceptance: 14-12-2023

DOI: 10.24875/CIRUE.M24000722

Cir Cir (Eng). 2024;92(4):506-513

Contents available at PubMed

www.cirurgiaycirujanos.com

Introduction

Anxiety is an emotional response to stimuli that people perceive as threatening¹. It is one of the most common psychological reactions in patients undergoing surgery and is seen in 80% of patients scheduled for high-risk surgery². In the pre-operative period, patients face various situations that trigger anxiety³. Pre-operative anxiety seems to be due to reasons such as a lack of knowledge about surgery and anesthesia, complications that may develop due to surgery and anesthesia, and dependency on others after surgery. For these reasons, the pre-operative, intraoperative, and post-operative periods are worrisome for most patients and create pre-operative anxiety^{4,5}. In a study examining the thoughts and wishes of patients who would undergo surgery, it was found that 91.5% of the patients experienced anxiety before their surgery⁶. It was reported that the presence of anxiety in patients before surgery caused an increase in the usage of doses of anesthesia, post-operative pain, prolonged hospitalizations, and patient dissatisfaction^{3,7}. It was shown that providing educational information about the entire surgical process was effective in reducing the anxiety of patients in the pre-operative period⁴. Patients can also obtain information from the internet to meet their information needs. E-health literacy skills are important for patients to obtain information from electronic environments. E-health literacy is a tool that enables people to access necessary health-related information from electronic sources and make decisions about their health. In a study on the access of surgical patients to health-related information, 46.1% of the patients were found to use the internet, and 97.1% were using it to conduct online research about health⁸. In a study conducted with cancer patients, it was stated that 70.8% of the patients received information about their disease from the internet⁹. It was reported that 69.6% of individuals using the internet in Turkey had used it in the last 3 months to search for health-related information (e.g., injuries, diseases, nutrition, improving health)¹⁰. Studies have demonstrated that patients use electronic media such as the internet to obtain information.

Anxiety is common in patients after lung cancer surgery¹¹. In a study examining the anxiety levels of 278 patients who underwent curative surgical resection for lung cancer, the prevalence of pre-operative anxiety was found to be 8%⁷. To the best of our knowledge, in the relevant literature, there exists no study examining the relationship between the pre-operative anxiety levels of patients scheduled for thoracic surgery and their

e-health literacy, referring to their abilities of searching and obtaining information about their health using electronic media or the internet. In this study, it was aimed to examine the relationship between pre-operative anxiety and e-health literacy levels of patients scheduled for thoracic surgery. The results of this study will help show the tendency of patients to use e-health applications to reduce their anxiety.

Materials and methods

Aim

The aim of this study was to examine the relationship between pre-operative anxiety and e-health literacy in patients scheduled for thoracic surgery.

Design

This study was performed with a descriptive and correlational design.

Settings

The study was carried out in the thoracic surgery clinic of a university hospital in İzmir, Turkey. There are a total of 18 patient beds in this clinic, and patients were interviewed before their surgeries. Data were collected between April and October 2022.

Sample

All patients who were planned to undergo thoracic surgery in the thoracic surgery clinic of the University Hospital formed the population of the study. To identify the sample size required to conduct the study, the G*Power 3.0 program was used for the power analysis, and it was found that at least 90 patients in a single group needed to be included in the sample at a significance level of 0.5, with a medium effect size of 0.01, and a power of 0.95. Considering potential data losses, a total of 102 patients were interviewed.

The sample consisted of 102 patients > 18 years of age who were going to have their first thoracic surgery, had no hearing or vision problems, were internet users (at home, at work, or on mobile devices), and agreed to participate in the study. Patients who did not have internet access at home or on their mobile devices were excluded from the sample. Verbal and written consent was obtained from each patient.

Implementation

A patient information form was used to determine the sociodemographic and clinical characteristics of the patients. The Amsterdam pre-operative anxiety and information scale (APAIS) was used to assess the pre-operative anxiety levels of the patients and their need for information, the visual analog scale for anxiety (VAS-A) was used to assess the anxiety experienced by the patients before surgery, and the eHealth literacy scale (eHEALS) was used to determine their e-health literacy levels. The data were collected by the researchers in face-to-face interviews held with the patients before surgery.

PATIENT INFORMATION FORM

The form, which was created by the researchers based on the relevant literature, included questions about the sociodemographic and clinical characteristics of the patients^{6,8}.

APAIS

This scale was developed by Moerman et al. in 1996 to determine the pre-operative anxiety levels of patients and assess their need for information¹². APAIS is a 5-point Likert-type scale consisting of 6 items¹².

Four items of the scale, constituting APAIS-A, assess anesthesia anxiety (items 1 and 2) and surgical procedure anxiety (items 4 and 5) (Cronbach's alpha 0.86). Two items, constituting APAIS-B (items 3 and 6), identify the need of the patient for information (Cronbach's alpha 0.72)¹². The range of possible scores on APAIS-A, the anxiety subscale, is 4-20, while the range of possible scores on APAIS-B, the need for information subscale, is 2-10. Total scale scores vary between 6 and 30. High scores are associated with high levels of anxiety and need for information¹². Çetinkaya et al. found $\alpha = 0.89$ for APAIS-A and $\alpha = 0.78$ for APAIS-B in their study and showed that the scale had high reliability for the Turkish population¹³.

VAS-A

The VAS-A is a scale that has been implemented and accepted all over the world for a long time. The scale has no language and is easy to implement¹⁴. Since it is quick and simple, it is a more global and

multidimensional tool for assessing anxiety¹⁵. A strong positive correlation ($r = 0.686$; $p = 0.000$) was reported between VAS-A and the state-trait anxiety inventory¹⁶. In VAS-A, patients are asked to indicate their pre-operative anxiety level using a 10 cm horizontal line (values ranging from 0 to 10), measured from the left to the right. This scale was used to assess the self-evaluations of the patients about their anxiety levels experienced before surgery.

eHEALS

This scale was developed by Norman and Skinner in 2006 to measure the perceived skills of individuals in finding, evaluating, and applying electronic health information regarding health problems¹⁷. It is a 5-point Likert-type scale consisting of two items on internet use and eight items on internet attitudes. The first two items of the scale are evaluated separately. The minimum and maximum scores on the scale are 8 and 40. The Cronbach alpha has been found to be 0.88 and a high agreement¹⁷. A higher scale score indicates an increase in e-health literacy levels.

Data analysis

Frequency, percentage, and mean values were used in the analyses of the data. The data were analyzed in the SPSS 26 program. The one-way analysis of variance test was performed on the APAIS and VAS-A scores of the patients according to their reasons for undergoing surgery. Pearson's correlation analyses were carried out to identify relationships between the APAIS, VAS-A, and eHEALS scores of the patients. Linear regression analysis was performed to identify the independent variables (age, reason for surgery) predicting the e-health literacy levels of the patients.

Ethical dimension

Ethics committee approval (no: 2022/12-02) and institutional permission (no: E-43940943-100-198235) from the institution where the study would be conducted were obtained before starting to collect data. The purpose of the study was explained to the patients, and written informed consent was obtained from the patients who agreed to participate in the study. This study was descriptive. No invasive intervention was performed in the study. Therefore, no

harm was caused to the patients during the study process. No fee was paid to the patients in exchange for their participation. It was explained to the patients that they could leave the study at any time during the research process. This study was conducted in accordance with the principles of the Declaration of Helsinki, as well as research and publication ethics.

Results

The mean age of the patients was 53.29 ± 19.35 years. While 34.3% of the patients were > 65 years old, 64.7% ($n = 66$) were male, 71.6% would undergo surgery due to a lung mass, and 85.3% stated that they needed pre-operative information (Table 1).

According to the pre-operative measurements, the mean VAS-A score of the patients was 6.02 ± 2.51 , and their mean APAIS-A score was 11.56 ± 3.89 (min: 4 - max: 20) (Table 2). The patients were found to experience moderate anxiety. In the evaluations made based on the surgical indications of the patients, the mean VAS-A score of the patients with lung masses was found as 6.26 ± 2.46 , the mean VAS-A score of those with chest trauma was 5.90 ± 3.24 , and the mean VAS-A score of those who had chest deformities was 5.21 ± 2.25 . There was no significant difference in the VAS-A scores of the patients according to their reasons for undergoing surgery ($F: 1.33$ $p = 0.267$, $p > 0.05$).

According to their APAIS scores, 39.2% of the patients needed vast amounts of information about the surgical procedure. The mean APAIS-B score of the patients was 6.85 ± 2.38 . It was determined that the patients had moderate levels of need for information in general. The mean total APAIS score of the patients was 18.73 ± 5.85 (Table 2). In the evaluations made based on the surgical indications of the patients, the mean total APAIS score of the patients who had lung masses was 18.42 ± 5.89 , the mean total APAIS score of those with chest trauma was 21.2 ± 8.20 , and the mean total APAIS score of those who had chest deformities was 16.68 ± 5.57 . There was no significant difference in the mean total APAIS scores of the patients based on their reasons for undergoing surgery ($F: 1.99$, $p = 0.141$).

The mean eHEALS score of the patients was 24.84 ± 9.21 (min: 8 - max: 40) (Table 2). While 41.2% of the patients stated that it is important to access health resources on the internet, 52% stated that the internet is useful when making decisions about their health.

Table 1. Sociodemographic and clinical characteristics of the patients ($n = 102$)

Sociodemographic and clinical features	$\bar{X} \pm sd$ (min-max)	
Age	53.29 ± 19.35 (18-91)	
	n	%
Sex		
Female	36	35.4
Male	66	64.7
Age		
65 or younger	67	65.7
66 or older	32	34.3
Reason for surgery		
Cancer ($n = 73$)	73	71.6
Chest trauma ($n = 10$)	10	9.8
Chest deformities ($n = 19$)	19	18.6
First feeling after the decision to undergo surgery		
Anger	6	5.9
Anxiety	26	25.5
Fear	39	38.2
Sadness	4	3.9
Calmness	27	26.5
Needs information about the surgery		
Yes	87	85.3
No	15	14.7

n: total number; %: percentage; $\bar{x} \pm sd$: mean and standard deviation.

Table 2. Total VAS-A, APAIS, and eHEALS scores of the patients

Scales	$\bar{x} \pm sd$ (min-max)
VAS-A	6.02 ± 2.51 (0-10)
APAIS-A	11.56 ± 3.89 (4-20)
APAIS-B	6.85 ± 2.38 (2-10)
APAIS total	18.73 ± 5.85 (6-30)
eHEALS	24.84 ± 9.21 (8-40)

$\bar{x} \pm sd$: mean and standard deviation; VAS-A: visual analog scale for anxiety; APAIS-A: APAIS A, anesthesia anxiety (items 1 and 2) and surgical procedure anxiety (items 4 and 5); APAIS-B: APAIS-B, (items 3 and 6) information needs; eHEALS: eHealth literacy scale.

There was a statistically significant relationship between the total eHEALS scores of the patients and their age ($t: 2.896$, $p < 0.05$). High e-health literacy levels were found in patients under 65 years of age (Table 3). The correlation between the ages of the patients and their total eHEALS scores was negative, moderate, and statistically significant ($r = -0.409$, $p = 0.001$). As the ages of the patients decreased, their e-health literacy levels increased. In other words, younger patients had higher eHEALS scores.

Table 3. Effects of sex, age, and reason for surgery on e-health literacy

Variables	X ± SD	t/F p
Age		
65 years and under	26.68 ± 8.78	t = 2.896
66 years and older	21.31 ± 9.10	p = 0.005
Sex		
Female	26.00 ± 10.0	t = 0.936
Male	24.21 ± 8.76	p = 0.352
Reason for surgery		
Cancer (n = 73)	23.31 ± 9.33	F = 4.087
Chest trauma (n = 10)	26.80 ± 8.20	p = 0.020
Chest deformities (n = 19)	29.68 ± 7.63	

N: frequency; X: mean; SD: standard deviation; t: independent-samples t-test; p < 0.05
F: analysis of variance (ANOVA).

There was no statistically significant relationship between the total eHEALS scores of the patients and their sex (t: 0.936 p > 0.05). A significant relationship was found between the e-health literacy levels of the patients and their reasons for undergoing surgery (F: 4.087, p < 0.05). The total eHEALS scores of the patients who were scheduled to undergo surgery due to chest deformities were high (Table 3).

In the examination of the relationship between the pre-operative anxiety and e-health literacy levels of the patients based on their VAS-A and APAIS scores, no significant correlation was found between these two variables (Table 4).

In the logistic regression analysis of the variables related to the total e-health literacy levels of the patients, the predictive role of the ages of the patients and their reasons for undergoing surgery was examined. It was determined that the ages of the patients (β : -0.436 p = 0.001) significantly predicted their e-health literacy levels. According to the model, a one-unit decrease in age increased the total eHEALS score by 0.19. According to the model, these variables explained 16% of the total variance in e-health literacy (Table 5).

Discussion

In this study, the relationship between the pre-operative anxiety and e-health literacy levels of patients scheduled for thoracic surgery was examined.

The mean VAS-A and APAIS-A scores of the patients, indicating their pre-operative anxiety levels, were 6.02 ± 2.51 and 11.56 ± 3.89 , respectively. The mean total APAIS score of the patients was 18.73 ± 5.85 . There was no significant difference in the

Table 4. Relationships between pre-operative anxiety and e-health literacy

Scales	eHEALS total	
	r	p
VAS-A	-0.090	0.371
APAIS- A (anxiety)	0.009	0.925
APAIS- B (need for information)	-0.063	0.530
APAIS total	-0.041	0.679

r: Pearson correlation, p < 0.05.

Table 5. Linear regression analysis of variables potentially predicting e-health literacy

Variables	Model				
	B	SH	B	T	p
Constant	35.667	5.043		7.073	0.000
Age	-0.199	0.060	-0.418	-3.294	0.001
Reason for surgery	-0.153	1.476	-0.013	-0.104	0.918
R	0.409				
R ²	0.167				
F	9.955				
p	0.000				
DW (1.5-2.5)	1.875				

p < 0.050; B: estimation equation; SH: standard error; β : beta; R²: coefficient of determination; DW: Durbin-Watson.

pre-operative anxiety levels of the patients measured by APAIS and VAS-A based on their reasons for undergoing surgery. The patients had moderate anxiety levels in general, regardless of their reasons for undergoing surgery. In a study investigating pre-operative anxiety with APAIS, 3087 patients were interviewed. In the study, 92.6% of the patients reported that they experienced pre-operative anxiety, and 40.5% stated that they experienced high levels of anxiety¹⁸. In our study, 85.3% of the patients stated that they needed pre-operative information. In addition, according to their APAIS scores, 39.2% of the patients wanted to receive vast amounts of information about the surgical procedure, while the overall level of need for information among all patients was moderate. It was shown that education given to patients before surgery had a positive effect in reducing their anxiety levels¹⁹. Therefore, pre-operative patients may experience moderate anxiety due to their need for information on various matters.

In this study, 41.2% of the patients stated that it is important to access health resources on the internet, and 52% stated that the internet is useful when making decisions about their health. In a study on the e-health literacy of patients with lung cancer, 29.3% of the patients stated that it is important to access health resources on the internet, and 53.7% stated that the internet is useful when making decisions about their health²⁰. In the pre-operative period, patients may need information in accordance with their needs or because they are not informed adequately. In cases where patients cannot get answers from the healthcare team on matters related to their health, or when the healthcare team's answers do not comfort them, they may look for information on the internet.

The patients who participated in this study were found to have moderate e-health literacy levels. A study on the e-health literacy of patients with lung cancer found low levels of e-health literacy²⁰. In studies conducted with cancer patients, it has been stated that the e-health literacy levels of these patients are moderate²¹⁻²³. The moderate e-health literacy levels of the patients in our study may be associated with their limited knowledge and skills about how to use the internet to obtain information.

In our study, it was determined that the e-health literacy levels of the patients under the age of 65 were high ($t: 2.896, p < 0.05$). A statistically significant moderate correlation was found between the ages of the patients and their e-health literacy levels ($r = -0.409, p = 0.001$). As the ages of the patients decreased, their e-health literacy levels increased. In other words, younger patients had higher total eHEALS scores. Other studies have shown that being young affects the e-health literacy levels of individuals^{21,23-25}. In another study conducted with lung cancer patients, no significant relationship was found between e-health literacy and age²⁰. A study evaluating cancer-related internet usage patterns in adolescents and young adults (18-39 years) and adult cancer patients (40+ years) revealed that adolescent and young adult (18-39 years) cancer patients ran significantly more searches on the internet per day²⁶. We think the high internet use rates of patients under the age of 65 affect their e-health literacy levels positively.

There was no statistically significant difference in the total eHEALS scores of the patients based on their sex ($t: 0.93, p > 0.05$). In one study, it was found that female patients had higher e-health literacy levels than male patients²². In another study, the e-health literacy levels of immigrant female patients were found

to be lower than the levels of male patients²⁷. Another study showed no significant relationship between e-health literacy and sex²⁸. No clear results have yet been found regarding the relationship between e-health literacy and sex. The e-health literacy levels of men and women may be similar due to their similar levels of access to and usage of e-health applications.

A significant relationship was found between the e-health literacy levels of the patients included in our study and their reasons for undergoing surgery ($F: 4.087, p < 0.05$). The total eHEALS scores of the patients who were going to undergo surgery due to chest wall deformities were high. In the relevant literature, another study on the e-health literacy levels of patients scheduled for thoracic surgery could not be found. Patients with chest wall deformities are young patients. Young patients have higher rates of internet and social media usage²⁶. Therefore, patients who will undergo surgery for chest wall deformities may have higher e-health literacy levels.

No significant correlation was found between the anxiety and e-health literacy levels of the patients in our study. Organized results of a study examining anxiety and health literacy in patients undergoing same-day surgery have not yet been published²⁹. Likewise, studies examining the relationship between pre-operative anxiety and e-health literacy could not be found. The absence of a significant relationship between e-health literacy and pre-operative anxiety in the context of efforts to reduce the anxiety levels of surgical patients may be explained by the possibility that these patients obtain health-related information from other sources such as doctors, nurses, other patients, and patient relatives to inform their decisions about their health, rather than getting information from electronic sources.

In our study, the predictive effects of two variables (age and reason for surgery) on the e-health literacy levels of the patients were examined by logistic regression analysis. The variables that were found significantly correlated with e-health literacy were included in the regression model. The age variable was a significant and negative predictor of the e-health literacy levels of the patients ($\beta: -0.418, p = 0.001$). The e-health literacy levels of the patients increased as their age decreased. In a study examining the factors affecting the e-health literacy levels of patients with lung cancer, a significant relationship was found between e-health literacy and age ($p < 0.005$)²⁰. In other studies examining the factors affecting e-health literacy, significant relationships

have been identified between e-health literacy and age ($p < 0.005$)^{21,26,30,31}. Internet use, especially health-related internet use, is more prevalent among young adults compared to older adults³². This may affect the e-health literacy levels of patients because young patients already use the internet in many areas of their lives, and they are likely to use it to find answers to their questions about health.

Conclusion

Patients who were scheduled for thoracic surgery were determined to need information regarding the surgical process. They had moderate anxiety levels because of their information needs. The patients were also found to have moderate e-health literacy levels. There was no significant relationship between the pre-operative anxiety and e-health literacy levels of the patients. A significant relationship was found between the e-health literacy levels of the patients and their ages, and the patients under the age of 65 had higher levels of e-health literacy. Although the e-health literacy levels of young patients are high, it is recommended that healthcare professionals use educational materials that can be easily used by patients in training programs to be given to all patients, especially patients aged 65 or older, and develop easy-to-use, attractive, and highly accessible online platforms and mobile applications for patients using e-health applications. Healthcare professionals need to focus on the information-related needs and information-seeking behaviors of patients. This study will provide nurses with information about the health literacy status of patients who are scheduled for surgery.

Limitations

In our study, there were patients who were scheduled for thoracic surgery for different reasons. For example, patients with chest deformities had higher e-health literacy levels, and this group was also younger. The small number of patients in this group was a limitation. The e-health literacy levels of the patients who would undergo surgery due to cancer were lower than the levels of other patients. It was found that cancer patients trust online health information less³³. Other studies showed that cancer patients face several challenges when searching for health-related information and using the internet to solve health problems. In particular, it was observed that they often had problems identifying websites with

reliable health information^{34,35}. This study did not focus on the information needs and information-seeking behaviors of cancer patients. Another limitation was that e-health literacy was measured once in a clinical setting before surgery. Patients who had thoracic surgery for different reasons can be evaluated in different studies and with larger samples.

Funding

The authors declare that they have not received funding.

Conflicts of interest

The authors declare no conflicts of interest.

Ethical disclosures

Protection of human and animal subjects. The authors declare that no experiments were performed on humans or animals for this study.

Confidentiality of data. The authors declare that they have followed the protocols of their work center on the publication of patient data.

Right to privacy and informed consent. The authors have obtained the written informed consent of the patients or subjects mentioned in the article. The corresponding author is in possession of this document.

Use of artificial intelligence for generating text. The authors declare that they have not used any type of generative artificial intelligence for the writing of this manuscript or for the creation of images, graphics, tables, or their corresponding captions.

References

1. Stamenkovic DM, Rancic NK, Latas MB, Neskovic V, Rondovic GM, Wu JD, et al. anxiety and implications on recovery: what can we do to change our history. *Minerva Anesthesiol.* 2018;84:1307-17.
2. Bansal T, Joon A. Pre-operative anxiety-an important but neglected issue: a narrative review. *Indian Anaesthet Forum.* 2016;17:37.
3. Alanazi AA. Reducing anxiety in pre-operative patients: a systematic review. *Br J Nurs.* 2014;23:387-93.
4. Moreno FM. Influence of the presurgical nursing visit on the patients' anxiety. *Nuberos Cient.* 2018;1:34-8.
5. Mulugeta H, Ayana M, Sintayehu M, Dessie G, Zewdu T. Pre-operative anxiety and associated factors among adult surgical patients in Debre Markos and Felege Hiwot referral hospitals, Northwest Ethiopia. *BMC Anesthesiol.* 2018;18:155.
6. Çullu M, Ülker S. Patients' thoughts and demands that they did not express before surgery. *J Intensive Care Nurs.* 2020;24:1-10.
7. Park S, Kang CH, Hwang Y, Seong YW, Lee HJ, Park IK, et al. Risk factors for post-operative anxiety and depression after surgical treatment for lung cancer. *Eur. J. Cardiothorac Surg.* 2015;49:e16-21.
8. Çetin İ, Özhanlı Y. The characteristics of Internet usage of surgical patients accessing health information. *KOU Sag Bil J.* 2018;4:44-9.
9. Başkale HA, Serçekuş P, Günşen NP. Examination of information sources, information requirements and expectations of health personnel of cancer patients. *J Psychiatr Nurs.* 2015;6:65-70.

10. Turkish Statistical Institute. Household Information Technologies (it) Usage Research. Available from: [https://data.tuik.gov.tr/bulten/index?p=hanehalki-bilisim-teknolojileri-\(bt\)-using-arastirmasi-2021-37437](https://data.tuik.gov.tr/bulten/index?p=hanehalki-bilisim-teknolojileri-(bt)-using-arastirmasi-2021-37437) [Last accessed on 2022 Feb 02].
11. Signorelli MS, Surace T, Migliore M, Aguglia E. Mood disorders and outcomes in lung cancer patients undergoing surgery: a brief summary. *Future Oncol.* 2020;16:41-4.
12. Moerman N, Van DF, Muller MJ, Oosting H. The Amsterdam pre-operative anxiety and information scale (APAIS). *Anesth Analg.* 1996;82:445-51.
13. Çetinkaya F, Kavuran E, Aslan KS. Validity and reliability of the Amsterdam pre-operative anxiety and information scale in the Turkish population. *Turk J Med Sci.* 2019;49:178-83.
14. Bernstein GA, Garfinkel BD. The visual analogue scale for anxiety- revised: psychometric properties. *J Anxiety Disord.* 1992;6:223-39.
15. Labaste F, Ferré F, Combelles H, Rey V, Foissac JC, Senechal A, et al. Validation of a visual analogue scale for the evaluation of the post-operative anxiety: a prospective observational study. *Nurs Open.* 2019;6:1323-30.
16. Santamaria AL, Masot O, Velez OC, Sanchez TC, Roca J. Diagnostic concordance between the visual analogue anxiety scale (vas-a) and the state-trait anxiety inventory (stai) in nursing students during the covid-19 pandemic. *Int J Environ Res Public Health.* 2022;19:7053.
17. Norman CD, Skinner HA. eHealth literacy: essential skills for consumer health in a networked world. *J Med Internet Res.* 2006;8:e27.
18. Aust H, Eberhart L, Sturm T, Gehling M, Euteneuer F. A cross-sectional study on pre-operative anxiety in adults. *J Psychosom Res.* 2018;111:133-9.
19. Martínez-Vázquez V, Sandoval-Bonilla BA, Nettel-Rueda B, Suaste-Herrera AK, López-Romero LJ, Leija-Alva G, et al. Entrenamiento de atención focalizada para disminuir la ansiedad en pacientes candidatos a craneotomía. *Cir Cir.* 2022;90:665-9.
20. Milne RA, Puts MT, Papadakis J, Le LW, Milne VC, Hope AJ, et al. Predictors of high ehealth literacy in primary lung cancer survivors. *J Cancer Educ.* 2015;30:685-92.
21. Moon Z, Zuchowski M, Morris MR, Hunter MS, Norton S, Hughes LD. Disparities in access to mobile devices and e-health literacy among breast cancer survivors. *Support Care Cancer.* 2022;30:117-26.
22. Zhou J, Wang C. Improving cancer survivors' e-health literacy via online health communities (OHCs): a social support perspective. *J Cancer Surviv.* 2020;14:244-52.
23. Zhang L. Research on status and influencing factors of electronic health literacy in cancer patients. *Chin J Prim Med Pharm.* 2018;25:2689-92.
24. Hoogland AI, Mansfield J, Lafranchise EA, Bulls HW, Johnstone PA, Jim HSL. eHealth literacy in older adults with cancer. *J Geriatr Oncol.* 2020;11:1020-2.
25. Knapp C, Madden V, Wang H, Sloyer P, Shenkman E. Internet use and eHealth literacy of low-income parents whose children have special health care needs. *J Med Internet Res.* 2011;13:e75.
26. Vlooswijk C, Huisson O, Krahmer EJ, Bijlsma R, Kaal SE, Sleeman SH, et al. Differences in Internet use and ehealth needs of adolescent and young adult versus older cancer patients; results from the profiles registry. *Cancers (Basel).* 2021;13:6308.
27. Zibrik L, Khan S, Bangar N, Stacy E, Lausher HN, Ho K. Patient and community centered eHealth: exploring eHealth barriers and facilitators for chronic disease self-management within British Columbia's immigrant Chinese and Punjabi seniors. *Health Policy Technol.* 2015;4:348-56.
28. Escoffery C. Gender similarities and differences for e-Health behaviors among U.S. adults. *Telemed J E Health.* 2018;24:335-43.
29. Stephanie CJ, Mathieu A, Aurore M, Monique MR. Outpatients' perception of their pre-operative information regarding their health literacy skills and their pre-operative anxiety level. *Medicine (Baltimore).* 2021;100:e26018.
30. Brors G, Larsen TW, Dalen H, Hansen TB, Norman CD, Wahl A, et al. Validity and reliability of the Norwegian version of the eHealth literacy scale (eHEALS) among patients after percutaneous coronary intervention. *Eur J Cardiovasc Nurs.* 2021;20:Suppl 1. i149.
31. Fareed N, Swoboda CM, Jonnalagadda P, Huerta TR. Persistent digital divide in health-related Internet use among cancer survivors: findings from the Health Information National Trends Survey, 2003–2018. *J Cancer Surviv.* 2021;15:87-98.
32. Statistiek CBVD. Access to Internet and Internet Activities. Available from: <https://opendata.cbs.nl/#/CBS/nl/dataset/84888NED/table> [Last accessed on 2021 Nov 02].
33. Ridhi V, Saldanha C, Ellis U, Sattar S, Haase Kristen R. eHealth literacy among older adults living with cancer and their caregivers: a scoping review. *J Geriatr Oncol.* 2022;13:555-62.
34. Zhang, Y, Xu P, Sun, Q, Baral S, Xi L, Wang D. Factors influencing the e-health literacy in cancer patients: a systematic review. *J Cancer Surviv.* 2023;17:425-40.
35. Fu M, Li A, Zhang F, Lin L, Chen C, Su Y, et al. Assessing ehealth literacy and identifying factors influencing its adoption among cancer inpatients: a cross-sectional study in guangdong population. *Patient Prefer Adherence.* 2023;17:1477-85.